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Recall : to prove
PNT

,
it suffices to show

that

(A) For X11 and for any c,
Im ciT

T- a Sat ** h(s)ds =0,
and the same holds for the integral over
[l+ iT

,
+iT] ; and

(B) /im S8h(Hit)eitlog*&t =0.

Here
, again , h(s) = 1 - 5'k) - 1

.

s(s+1) 3(s)s - 1

Today, we prove (A) .

Theorem 13
.
7
. J KO such that

3'(s) = Ko at
S

3(s)



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

③
which

, by Thm .
13
.4 is

,
for some M10,

· GoMloght = -1)Mlogt .
So, by the triangle inequality and by 111,
3(0+ it) = 3k+ it 3( + it) - 3(0+ it)

3 (a+ it)(c - 1)Mlogt
-A(x - 1)

↑

logt - (2-1)Mloght . (2)
But (2) is also true for x=0 -2, because
then (0-1/3/4 (2-1)34, so by (1),

-

Y4t3(0+ it) = A(x-1) log3/43A(x - 1) 10
-Yt - (x - 1)Mlogt .S

In other words
,
12) holds for all 1212,

15052
,
and the

Choose a to

depend
on

a = 1+ (4
-9t.

Note I ; also 222 if this large enough,
Isaytto . So for such t and for 50s2,

by (2),
- 1/4 2-9

3(o+ it) t - At 9 tAt log log
2 M3

10



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 


